1 2 4 5 | 6 | | 8
R REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE LJH 10/26,/05’ ~ LJC 10/26/05’
ITEM PART NAME Q’ty NOTES B ST ] T YCH 09/1 3/07’ ~
1 PLASTIC HOOD 2 ABS
9 LONG BOLT 2 #4—40
SHORT BOLT 2 #4—40

> NUT 2 W ITEM: DSUB PLASTIC CASE (DP-37C)
4 LONG SCREW 2 M3
5 SMALL WASHER 2
6 SHORT SCREW 2 M3

7.1 METAL WASHER 2 M3
7 |7.2| PLASTIC—1 WASHER 2 ABS

7.3 | PLASTIC—2 WASHER 2 ABS

29.8

2 e \\
%% _ L=
1T 10

2
_\ 14.3

4—40 UNC

3
\ M3 )
o— }_ -
55 )
6.7 :

I Short BOLT BN #=2. i
w0 W) %_
4
13.5
M3
x __A__ @
T
12.05 LONG SCREW
4.8
S\H
13.70 1 v e & oq, I 7
\ l 5 —1 O '
. 24.0 SMALL WASHER
18.0 —) ‘
| | I 1 3 1 8
! é_HE” @y al‘l'f‘jﬁ‘l‘l | M3 §5Za)7 &
& 0 M5 | | N \A_
’ o Meto _ Plstest  Pesiee2 | -
o o \\ SHORT SCREW
4-40 UNC Q :
° R IR GENERAL TOLERANCE| ANGLE TOLERANCE —F [TILE . i
@ [ i B SERRIIERY] PROJECTION | & T D—SUB 37pin Hood Chromium plated
40 . . X. +0.60 X. 5 UNITS M
o 2 g X $0.38 X %3 SHEET SIZE A4 | SERIES | DS1046 SERIES
135 " XX £0.25 XX £2°
" DRAWING TYPE [COSTOMER RU I c H I
Long BOLT SCALE 1:1 [SHEET |1 OF 1
DRAWING NO. | C—DS1046—37XXXX
1 2 4 | 5 6 l 7 l 8




